Covaderm[®]



DeRoyal has created the ideal secondary dressing with our COVADERM® family of wound products. Save time and money by replacing gauze, tape, and scissors with our innovative non-adherent wound dressings.

With rounded corners and more shapes and sizes than ever, COVADERM®, COVADERM® THIN, COVADERM **PLUS**®, & **NOW** COVADERM **PLUS**® THIN are here to support you in creating an ideal wound healing environment.





COVADERM®



- Replace gauze, tape, and scissors with an easier solution
- Conforms securely to body contours

adhesive wound dressing

- Breathable layer prevents drainage strike through and is a barrier to external contaminants
- Comfortable rounded edges and stretchable fabric tape
- Protective, absorbent sterile pad
- Non-irritating adhesive tape
- Split release liner for easy one-step application



COVADERM® THIN

adhesive wound dressing

- Non-adherent, general purpose absorbent sterile dressing
- Conforms easily to wound
- Bulk case quanities no individual boxes to open
- Comfortable rounded edges and stretchable fabric tape border
- Split release liner for easy one-step application

Product #	Overall	Pad	Qty/Bx	Bx/Cs	Qty/Cs	НСРС
46-001	4" x 4"	21⁄2" x 21⁄2"	25	8	200	A6254
46-002	4" x 6"	21⁄2" x 4"	25	8	200	A6254
46-003	4" x 8"	2" x 5½"	25	4	100	A6254
46-004	4" x 10"	2" x 7½"	25	4	100	A6254
46-005	4" x 14"	2" x 11"	25	4	100	A6255

indications:

Pressure ulcers Leg ulcers Chronic secreting lesions I.V. sites Laparotomy sites Arthroscopic incisions Tube sites Diabetic ulcers Surgical incisions



indications

Pressure ulcers Leg ulcers Chronic secreting lesions I.V. sites Laparotomy sites Arthroscopic incisions Tube sites Diabetic ulcers Surgical incisions



R,



[[1]

1200 🕏 😓 🖢 😓

Primary Dressing

Secondary Dressing

Not made with Natural Rubber Latex









PLUS V.A.D

COVADERM PLUS®

composite wound dressing



- Thick multi-layered composite wound dressing
- Fabric tape conforms to difficult/odd body contours
- Helps to maintain moist environment with protection from outside contaminants
- Breathable layer prevents drainage strike through and is a barrier to external contaminants
- Four layer construction:
- Protective non-adherent contact layer
- Soft pad for drainage absorption
- Breathable, semi-occlusive polyurethane barrier film
- Conformable adhesive-coated fabric tape
- · Available with radial slit for tube sites

Product # 46-405 46-406	Size 4" × 4" V.A.D. 6" × 6" V.A.D.	Pad V-Tape 2" x 2" 1" x 4" 4" x 4" 1" x 6"	Qty/Bx 25 5	Qty/Cs 200 50	НСРС
Product #	Таре	Pad	Qty/Bx	Qty/Cs	НСРС
46-400	2" x 2"	1" × 1"	25	100	A6203
46-411	21⁄2" x 21⁄2"	1½" x 1½"	10	50	A6203
46-401	4" x 4"	21/2" x 21/2"	10	50	A6203
46-402	6" x 6"	4" x 4"	10	50	A6203
46-403	6" x 8"	4" x 6"	10	50	A6204
46-414	4" x 10"	2" x 7½"	N/A	100	A6203
46-415	4" x 14"	2" x11"	N/A	100	A6204
46-408	4" Diameterw/2 Radial Slit	" 2½" Diameter	25	200	A6203

Pressure ulcers Leg ulcers Chronic secreting lesions I.V. sites Laparotomy sites Arthroscopic incisions Tube sites Diabetic ulcers Surgical incisions





COVADERM PLUS® THIN

composite wound dressing



- NEW thinner multi-layered composite wound dressing
- Fabric tape conforms to difficult/odd body contours
- Non-adherent pad with not adhere to wound bed or staples/sutures
- Absorbent pad helps to control and maintain drainage
- Rounded corners help to prevent dressing from lifting off prematurely
- · Four layer construction is ideal for a variety of wound types and sizes
- Bulk case quanities no individual boxes to open
- Helps to prevent drainage strike-through
- Helps to prevent wound trauma

Product #	Size	Qty/Cs	HCPC
15-301	2x2	50/cs	A6203
15-302	4x4	50/cs	A6203
15-303	6x6	50/cs	A6203
15-304	6x8	50/cs	A6204
15-305	4x10	50/cs	A6203
15-306	4x14	50/cs	A6204

Pressure ulcers Leg ulcers Chronic secreting lesions I.V. sites Laparotomy sites Arthroscopic incisions Tube sites Diabetic ulcers Surgical incisions











Barrier

Antimicrobial



- 1. Peel back edge of folded release paper.
- 2. Anchor exposed edge of tape onto skin, then carefully peel off rest of release paper.
- 3. Smooth all tape edges onto skin.









additional steps for V.A.D. 4. Peel back edge of release paper on V-cut strip.

5. Place tape under catheter as shown.

application types

1. CHRONIC WOUNDS:

Covaderm Plus is ideally sized for most chronic wounds from pressure sores and leg ulcers to other secreting lesions.

2. I.V. SITES:

Use Covaderm Plus to cover a discontinued I.V. Site.

3. SURGICAL WOUNDS:

Use Covaderm THIN for dressing laparoscopy sites after surgery. Use the larger Covaderm sizes for incisions that cover a broad surface area. Such as incisions associated with c-sections, saphenous vein harvest, open heart surgery, etc.

4. ORTHOPEDICS:

The 2" x 2" Covaderm is perfect for covering incisions made during arthoscopic knee surgery. Use the 4" x 4" to cover incisions made during ankle surgery and to provide a secure, comfortable covering over joint pins under orthopedic casts.

5. TUBE SITES:

Covaderm Plus is also available in a circular configuration with a radial slit for use around tube sites.

DeRoyal®, DeRoyal logo, Improving Care. Improving Business.®, and Covaderm® are registered trademarks of DeRoyal Industries, Inc.

*All study and clinical data claims are on file.

DeRoyal Industries, Inc. | 200 DeBusk Lane, Powell, TN 37849 USA 800.DEROYAL or 865.938.7828 | www.deroyal.com Reprint # 0-1553 | Rev. 07/15







